Seat No.:

Diploma Engineering - SEMESTER-I1 « EXAMINATION - SUMMER 2013

Subject Code: 320001 Date: 07-06-2013

www.onlinegtu.com
Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Mathematics-11

Time: 2:30 pm - 05:00 pm
Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Q4 (a)

(1) IfP(7,5), A(2,4) , B(6,10) then prove that PA=PB.

(2) Find the centroid of a triangle with the vertices (3,-4), (-2,5)
and (5,2).

(1) If the area of a triangle with the vertices (2,3), (4,5) and (m,3)
is 5 square units then find the value of m.

(2) Prove that the points (-1,0), (0,3) ,(3,2) and (2,-1) are the vertices

of a square.
dy

If y=log(tan x)+cosx+ x then find i
X

(1) Find the equation of a line passing through the points (3,2) and

(-1,3).

(2) For what value of k the lines 7x+y—-1=0and 3x—ky+2=0
are perpendicular to each other?

(1) Find the equation of a line passing through the point (4,3) and
which is parallel to the line 4y —3x+7=0

(2) Find the equation of perpendicular bisector of the line segment
joining the points A(5,4) and B(-2,0).
2+3sinx

Evaluate j4zdx .
COS” X

(1) Find the equation of a circle passing through the points (4,0),
(0,4) and (0,0).

(2) Find the equation of a tangent and normal to circle x*+ y* =25
at a point (3,4).

Find the radius and centre of a circle2x* + 2y* + 4x+6y—-7=0.

If f(x)=1Ilogx then prove that f(xy)= f(x)+ f(y)and

f(sz F(x)= f(y).
y

2
(1)Evaluate Iimw.
x>l x°+2x-3

\/Za—x—\/;'

a—Xx

(2) Evaluate lim

X—a
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If y= XX o ing 9. [04]
X+1 dx
If y=x""%4x* then find . [04]
dx
(1) Evaluate [(4x* +3x+9)dx. [02]
(2) Evaluate [2xe*"dx. [02]
(1) Evaluate J' x log xdx. [03]
xi-1
(2) Evaluate j Z " dx. [03]
o X—1
" sinx
Evaluate j — dx. [04]
5 SiN X +CoS X
In which ratio Y-axis divides the line segment joining the points

(1,2) and (2,1)? Also find the co-ordinates of division point. [04]
Find the equation of the line parallel to 3x—4y =7 and passing
through the intersection point of x—y=7and 2x+y=11. [04]
(1) Find the equation of a circle whose diametrically opposite points

are (2,3) and (3,4). [03]
(2) Find the derivative of x* using the first principle. [03]
(1)The motion of a moving particle is given by S =t* —6t>+9t+6

then find velocity when acceleration is zero. [03]
(2) If X’y +5y*x+6=0, find % [03]

X

Evaluate _fxzexdx. [04]
Find the area bounded by the curve y=4x* x=1and x=2. [04]
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(1) %\ P(7,5), A(2,4), B(6,10) Al U(Act $A 3 PA=PB.  [0%]
2) ARAIgA (3,-4), (-2,5) Wal (5,2) YRleldl A5l of

HelFon 0. [0R]

(1) ARUAE A (2,3), (4,5) Ut (M,3) URclcll (Aslele] Ansn 5 A AsH
Sl dl m o et el [03]

(2) A 5 ¥ (g (-1,0), (0,3) ,(3,2) Wal (2,-1) ARU

A Y. [03]

%l y =log(tan x) +cos x + x cll g—i%ﬂ‘cﬂ . [0¥%]

(1) [@gl (3,2) Aol (-1,3) Hill R acll uite] Als0 Al
[0R]
(2) kol sl YU M2 RURA7x+y—-1=0¥A 3x—ky+2=0

Aso{lostal UHIAR 2? [0R]
(1) (@g (4,3) Hill UAR Ul U WL 4y—3x+7=0 ol AHIAR L o]
yls:0 A [03]
(2) lleA A(5,4) U B(-2,0) A 1Sl udLuisell oli dollseus o
uls:0l el [03]
JEEE g Aadl, [0%]

(1) (g (4,0),(0,4) Wa (0,0) Hill UAR Ul ddne] AlsaL Aadl.
[03]

2) dda x2+y? =25 ol (clg (3,4) wdLNetl RUls U wellcinat
yls200 Anal. [03]

adi 2x%+2y? +4x+6y—7=00] o Wal (A2l AA. [0¥]

o f(x)=logx l f(xy)=f(x)+ f(y)ua f&j: f(x)— f(y)

RGERQS [0%]

. x*—4x+3
1) lim Aol 03
@ x> +2x-3 [03]

—Vzaa‘_xx‘& Aadl

(2) Iim

X—a

[03]
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Ry VKX Q & g [0¥]
x+1 dx
o y=xI"4x* % Nl [0¥%]
(1) .[(4x2 +3x+9)dx Ancll. [0R]
@ | 2xeX’dx AaAl. [02]
(1) J'xlog xdx Aol [03]
(2) jde Andl. [03]
o X—1
/2 .
[ dx Ao [0¥]
5 Sin X +C0S X
(gl (1,2) Aol (2,1) A BScll JLVLSe] Y-1&l sl ABNAR Hi (Aedosat

52 7 ([Aeloset sl (Glgatl aH . [0¥%]

QUU3X—4y =7 A AHIAR WA YHURA x—y=7,2x+y=11cll Deldlg Hiell

AR AUl utle] A0 Al [0%]

(1) (2,3) A (34) caldic (g alou adn «f s
andl. [03]
2) yauH Rgidell Heedll x° ol [@sl@d Aol [03]

(1) As sloll ollde] uMlswL S =t3—6t2 +9t+6D. wAUR 58l YAdl

et SlA R Aol Aol Al [03]

(2) x’y+5y*x+6=0 &l dl %%ﬂ%ﬂ. [03]
Ixzexdx anal. [0%]
as y=4x3,x=13a x=2l R ytaef AxAsn

. [0¥]
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